EANRAROBREIEHRT — 2 N—XBISYH —F 201378268 (&) 9EEME3A

ICBC2= C2= #5%3m®LtL (xwlw | lmEmml - |5 @) o 8
[AE£] 1% :250,000 ™ ~ 2%&:45,000”  37%&:22,500 W  43%&:12,500 53 :7,500 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o . NAEF 31, -10-4-4 | 39.3| — ABE= (EH)
il 759277 b 3 égo 1(3_1)5 10-10-4-4 | 39.3 4 (5:)26) b
L:viNyBgLhTr B:TU-—ACF g [Ea=EFae]
S S D D JIRE— 139, == . = BAEE (BMA
2 2 I—3 kAT — 4 3 e 1(332)0 2-2-2-2 | 40.5 1 (::g) hie
LTIWNTFINTL2 B:Fv=TH— R RBIS
N A 4 5 | FHEL 1:32.1 1=1-1-1 | 40.9| — 7 461 | BRERBA (FEH)
3189 LEIN—AXF 54.0 (1/2) (+5) imth
L:T7v3I7—L BNRY—RXH e
IRAFIH : -9-10- — IRFFE (FEHH)
4 6| 7ATAHyFv— i 3 s 1(73%:; 9-9-10-7 | 39.7 2 (4:333; i
R H—> BTATATYEZ DDA
N . . RS 132, —6-7— . — RIFEE (EH)
507]7 4= TFy R 4 6 o 1(3\:3/24)2 6-6-7-5 | 40.2 3 26) 3
A= h7 BIS5KRL—Y3> TRERAUS
: ; B 4 | KEAR 1:32.4 8-8-3-3 |40.4| — 6 42 | EEBF (EB)
6/5|5 AT TIV—L 54.0 (1 1/4) 1) P
L4472V v— B:70y hAT5T FRESS
. B4 | WiE#EX 1:32.6 5-5-6-9 | 40.6| — 5 459 | REES (ER)
7|810| 7TV F X H~ 54.0 M o |xeE
L:¥xrinqano— g5 5 EAR R e ]
S5 s f 7 | EEM 1:32.9 6-7-9-8 | 40.9| — 8 455 | FFERE (ER)
8 3 HEx—2+ 54.0 (1 3/4) (-4) Ej”Té‘i
R:AyO547> B:RKY—-3I 47— FRBE%S
= s 4 3 | LEHESR 1:33.5 4-4-4-6 | 41.8| — 10 | 425 |WW0E= (FEhR)
opN 4| I-FF 1> 54.0 31/2) 2 |EEEE
R:Y=Z24—-3=224— BIVRFALI-X =liztae]
o # 3 | AURE 1:35.3 3-3-8-10 |43.5| — 9 464 | EREELE (EH)
10(7(8| T2V PN 8.0 (51%) o |ESRE
XY T b —T7—K=K B:NMLHLHIF JEL EE
® 1—F—@EBIERL
12—74— |9,2,8,4,10,(3,7),5,6,1
2a=5F= 9,2,8,4,10,7,3,5,6,1
Ja=5= 9,2,5,(1,4),10,7,8,3,6
43—+ — 9,2,5,1,7,4,6,3,10,8
[ N5
B 1 590H 714K 1-2 220M e E 1-2 560 JEE 1-2-9 2,840
B B 1 180H4 1-9 1,380H B = 52 400 EE 1-2-9 11,300
2 120 2-9 550M B H 1-2 1,440/
9 340H

ABICOVWTRDTEEERROODE. TR LIV,



